[ Efficiency vs vertpos |

—_
+—

efficiency vs ver

Ratio

Efficiend

N
—

efficiency vs ver

Ratio

0.8
0.7

0.6-
0.5
0.4
0.3
0.2

0.1

0.

[oe]

0.

(2]

| S—

?ﬁﬁ&ﬁ@iﬂiﬁiﬁﬂﬁ 1

10™

1.2

2 10 1 10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

—— DQM_pixelCPEChi20R_step2_ttbar-phasel-newgeom

R
oo i
UV
i

L L & O

s

=

Wi

0 10 20 30
TP vert z (cm)

efficiency vs Sim. PV z

Ratio

0.6

0.4

0.2

S S At S S S S

R N T s

10 1520
Sim. PV z (cm)



	Contents
	Page 1


